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Al ssSn 39,556,544 38,764,395 792,149
= 2,429,000
Xl 700,000
J| 115,500
< 9,804,729
Al 26,507,315
=2 2 L3 17,818,059 8,526,445 9,291,614
= 2,429,000
Xl 700,000
J| 115,500
< 1,126,020
Al 13,447,539
SSHATR=S 2,298,252 2,805,660 A 507,408
= 54,900
J| 115,500
< 86,110
Al 2,041,742
SSAES JAT0 X 22,000 23,480 A 1,480
201 et 22,000 23,480 A 1,480
01 At 2teltl 9,000 10,480 A 1,480
OsSHE E22 NE(UX, 849 S)
3,000, 000& 3| 9,000
03 A2 S HI 13,000 13,000 0
O=S4ts t0te MAIEOH #AF &0t
3,000,000& = 13l 3,000
OSSHE 228 542 7Y
1,000,000& = 103l 10,000
s&28 ZEM KNJ 135,000 150,000 A 15,000
307 21201 A 135,000 150,000 A 15,000
02 QB AAHEX 135,000 150,000 A 15,000
O=s&=ZHEM XI& 800& = 337,50001 = 50% 135,000
St RS2 4,080 5,880 A 1,800
202 04l 2,880 2,880 0
01 = LH 4 Hi 2,880 2,880 0
ORM RS 20,000& = 3% = 48¢ 2,880
301 et d s 1,200 3,000 A 1,800
09 HALAHIEA S 1,200 3,000 21,800
O”dNRE E=Jlz WU
20,000& * 6F * 5IAH * 23 1,200
LANEsAE RSEAE EX (=) 145,002 325,400 A 180,398
< 29,000
Al 116,002
402 2I2H X201 M 145,002 325,400 A 180,398
< 29,000




D RNRSD
D s FHA A

SSHAFE
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Al 116,002
AN EASEEX 145,002 325,400 A 180,398
L2AEs8E RSAE £
241,670,000& * 60% 145,002
< 29,000
Al 116,002
Mt Y RSELSXE 600,000 800,000 A 200,000
AX=01d 600,000 800,000 A 200,000
A2 AEE XS 600,000 800,000 A 200,000
SSUSMY U RSTHHAN 600,000
OSFMEAE
20,000,000& * 30902 * 50% 300,000
OLnE2"SAE  5,000,000& * 80CH * 50% 200,000
Ost=7SZH
2,000,000& = 100CH * 50% 100,000
el 2dstAe 100,000 100,000 0
2H01 & 100,000 100,000 0
HHAALE B X 100,000 100,000 0
S&SENHH BHSHALY
20,000,000& * 50 4 100,000
243 M 378,000 443,500 265,500
=&l 1,000 1,000 0
=X =EH| 1,000 1,000 0
Alrs =8 1,000, 000& 1,000
gIztol 27,000 67,500 240,500
02 IZtA M AHE X 27,000 67,500 A 40,500
A5 MNEN SHDS
30,000& = 33| = 3009 27,000
X201 M 350,000 375,000 225,000
A2 AIEE X 350,000 375,000 A 25,000
Az MAEE EEXH
5,000,000& = 80= It * 50% 200,000
RHEITC XMWY £H X
100,000,000& * 304 = 50% 150,000
BNZH(NEERXH) XA 10,000 50,000 240,000
307 giz2tol & 10,000 50,000 240,000
HEAAEE T 10,000 50,000 240,000
SMNEZHISSHWEERXM)XE
500& = 40,00000 = 50% 10,000
BFE A XA E Z AL 302,220 0 302,220
2 E0IE 302,220 0 302,220
A EAEE X 302,220 0 302,220




2N
X ZH -
L= B

el

202 S It
=9 2Me Lsl

SSHAFE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OISt 2L X ANME AN
1,007,400,000& = 30% 302,220
Sd g3 A#As0 A& 100,000 100,000 0
307 2Iz2t0| A 100,000 100,000 0
02 QI AAIRE E X 100,000 100,000 0
oOB&1N3st 2= N
500& * 200,00000 * 2904 * 50% 100,000
N2RESHH 2SS ALY 231,000 500,200 A 269,200
J| 115,500
o= 23,100
Al 92,400
402 SI2vXHE0| ™ 231,000 500,200 A 269,200
J| 115,500
=} 23,100
Al 92,400
01 QIZEXIE2AIE 2 X 231,000 500,200 A 269,200
OM2KREMAH FESAE 385,000,000 * 60% 231,000
J| 115,500
= 23,100
Al 92,400
EZC R0 EHEiH| XN& 64,150 72,200 A 8,050
= 12,830
Al 51,320
307 2Iz2to| A 64,150 72,200 A 8,050
= 12,830
Al 51,320
02 QIZIA AAIE E X 64,150 72,200 A 8,050
O2ZE TSR0 Hufdl X&
128,300,000& * 50% 64,150
= 12,830
Al 51,320
SHZECEAHIEFRNZS st MAX, AU ESH XA 51,000 60,000 A9,000
o=t 10,200
Al 40,800
307 2iz2to| & 51,000 60,000 A9,000
& 10,200
Al 40,800
02 QIZ2FA AAIE E X 51,000 60,000 A 9,000
OZRBZCEAHIESRES Pt MAX, AHIKEY
A& 51,000,000 51,000
& 10,200
Al 40,800
2SE02HN S AIS 85,800 0 85,800
= 42,900
& 8,580
Al 34,320
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307 glz2tol & 85,800 0 85,800
= 42,900
< 8,580
Al 34,320
02 P HAMHEE 85,800 0 85,800
OZS &0t | ALY 171,600,000& * 50% 85,800
= 42,900
= 8,580
Al 34,320
s4&2 O E K3 ALY 24,000 0 24,000
= 12,000
< 2,400
Al 9,600
307 21201 A 24,000 0 24,000
= 12,000
< 2,400
Al 9,600
02 YAFAAFEE 24,000 0 24,000
O=4&= OHAE X ALE 40,000,000 = 60% 24,000
= 12,000
< 2,400
Al 9,600
A2 sSHE SSHE N& 30,000 0 30,000
402 RIZEXtE20| A 30,000 0 30,000
01 22t t= AP E XL 30,000 0 30,000
OAXES=HEXJAAY 60,000,000 * 50% 30,000
FIACHESE Y solof2 A 16,000 0 16,000
301 et d = 16,000 0 16,000
06 212tol=2l 04 Hl 16,000 0 16,000
OFTAUIEsE Y sHeloiel gt
2,000,000& = 10F * 80% 16,000
HIAMPBEHE S5 3,116,892 3,140,641 A23,749
< 18,000
Al 3,098,892
FEAMEAY SHXH 2,105,492 2,076,441 29,051
101 @124l 14,292 13,241 1,051
04 JIZHHZ2XNESE+ 14,292 13,241 1,051
OHAMYM E2 Y BIS0| X
48,2803 * 1H » 269 » 103 12,553
OPIRT == 1,339
(OFak=g-h=N=3 12,552,800& * 3.035% 381
O¥JIRYEE= 380,977& = 6.55% 25
O=d3 12,552,800 * 4.5% 565
OnE:Ed 12,552,800& * 1.5% 189
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ONMTHEE 12,552,800 * 1.42% 179
OY&EF I 200,000& = 23] = 1H 400
201 gEt24y| 788,000 908,000 A 120,000
01 AF 2t 2| H| 788,000 908,000 A 120,000
OBHMHSRUS(F $Y L BEMHA 22
2,000,000& = 3003 600,000
omFMTLIUC FapUg
100,000,000& = 1H 100,000
O=EEE FIAMPA 21 10,0008 * 5,000 50,000
OFJIMESHE T2 2FH| XN
2,000& = 14,0004 28,000
OBAMYY HRAYRSY
1,000,000& = 1090 2 10,000
301 et A= 640,000 640,000 0
11 JIEtE A= 640,000 640,000 0
OFIMHMN HAMMHsI ASEBEIA
400,000 = 1,600ha 640,000
307 2iz2to| A 565,200 515,200 50,000
02 QIZIA AAIE E X 565,200 515,200 50,000
OFRMYM 1IZSL DEZYUTH A
220,000& = 1,600ha * 70% 246,400
OBRAMYY T =0 X
240,000 = 1,600ha * 70% 268,800
OXRAMHMN X HEXH
8002 = 125,00000 * 50% 50,000
402 SI2F X201 M 98,000 0 98,000
01 QIZEXIEAIE 2 X 98,000 0 98,000
OBAMTH SR EBID &I
140,000,000 = 104 *« 70% 98,000
HIAMAHAEHE FHXS 713,800 776,600 A 62,800
201 gBt24y| 45,000 25,000 20,000
01 AP 22| H| 25,000 25,000 0

OFIMIEYE EESHA

100,000 * 10024 10,000
oFAMYSUE BDE HY
5,000,008 * 374 £ 15,000
03 & At2 2 bl 20,000 0 20,000
OHAMASUE ELHOUE A
2,000,008 * 103 20,000
202 01t 3,600 3,600 0
01 2Lhotbl 3,600 3,600 0
CEERELETEEES1E
20,0008 * 3% * 603 3,600
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307 glz2tol & 665,200 748,000 A 82,800

02 212+ & A} 665,200 748,000 82,800
OHMY TR M
24,300,0008 * 28004 * 50% 340,200
OB ME2TAY
408 * 5,000,00000 * 50% 100,000
OHAMALUC DZH MM} &
375,0008 * 1,200ha * 50% 225,000
HE=MNS 24T UIHE AL 30,000 30,000 0
< 9,000
Al 21,000
01 et | 30,000 30,000 0
= 9,000
Al 21,000
01 At 2tel ] 30,000 30,000 0
OYEBSMNES TVELT OHHEY
15,000,008 * 221 30,000
= 9,000
Al 21,000
HEQUANEH HUCSE 29 18,000 18,000 0
< 5,400
Al 12,600
01 et Y| 18,000 18,000 0
= 5,400
Al 12,600
01 Ak 2tel 18,000 18,000 0
OHEYUIZEH ZUCSE 2% 18,000,0008 18,000
= 5,400
Al 12,600
HOIE FINE BRAMYY YT X8 160,000 150,000 10,000
307 QI2+0| 160,000 150,000 10,000
02 212+ & A} 160,000 150,000 10,000
OUEOE & HAMgY A¥TE
320,000,0008 * 50% 160,000
LS=SHE HX 2435 8 77,000 77,000 0
201 Lot 2yl 12,000 12,000 0
01 Ak 2tel bl 12,000 12,000 0
OFT AN 22Tl 2R (HHHBD S)
1,000,002 * 122 12,000
301 LB A 25,000 25,000 0
IECERE] 25,000 25,000 0
O=SMSTTAHN =iyl X2
2,008 * 12,5002 25,000
307 QI2+0| ™ 40,000 40,000 0
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05 RIZHRI & 3 40,000 40,000 0
CEET PSR
40,000,000& * 14 40,000
sitE 32EE e-4ZE 2F7H N& 12,600 12,600 0
< 3,600
Al 9,000
301 et d=s 12,600 12,600 0
< 3,600
Al 9,000
NJIEEd=s 12,600 12,600 0
Ostts 33ZE 222 S7H XN
4,000 * 4,500 = 70% 12,600
< 3,600
Al 9,000
IHEAE =2 NE 6,499,953 2,393,124 4,106,829
= 2,374,100
X 700,000
< 1,021,910
Al 2,403,943
GAPCI S =Dt St A HAHl XI& 260,000 30,240 229,760
= 136,400
< 37,080
Al 86,520
301 BB A 260,000 30,240 229,760
= 136,400
< 37,080
Al 86,520
1MIIEBESS 260,000 30,240 229,760
OGAPI S =0t St A HAHl X &
32,000,000& 32,000
= 22,400
< 2,880
Al 6,720
OFMI sas222| (GAP)HA A Z At
228,000,000 228,000
= 114,000
= 34,200
Al 79,800
Heormpel (o) 5,700 5,922 ~222
= 5,700
202 ¢4 tl 5,700 5,922 A222
= 5,700
01 =LHOIHI 5,700 5,922 A 222
oF=sLd=2el 5,700,000& 5,700
= 5,700
tHEdsitE =227 123,450 95,340 28,110
= 24,690
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Al 98,760

307 glz2tol & 123,450 95,340 28,110
< 24,690
Al 98,760

02 It M AHE X 123,450 95,340 28,110
OUldsitE =2 JHIXH 123,450,000& 123,450
< 24,690
Al 98,760

st SHAY 82,000 147,372 AB5,372
< 24,600
Al 57,400

402 RIZ2EXt20l ™ 82,000 147,372 A 65,372
< 24,600
Al 57,400

01 A TtEAEEX 82,000 147,372 265,372
Osx=ttE2x=&His4 82,000,000& 82,000
< 24,600
Al 57,400

RPC KO XtZ OIXtE N 99,000 66,000 33,000
< 29,800
Al 69,200

301 gt d= 99,000 66,000 33,000
< 29,800
Al 69,200

1MIIEESS 99,000 66,000 33,000
ORPC B LKtz OIKEH 99,000, 000& 99,000
< 29,800
Al 69,200

== NasetE 22 X& 14,003 15,380 N1,377
< 4,200
Al 9,803

307 glz2+ol & 14,003 15,380 N1,377
< 4,200
Al 9,803

02 QIZtE M AHEE 14,003 15,380 A1,377
O=ss¢ttEs ZEMAE  20,004,000& = 70% 14,003
< 4,200
Al 9,803

ANAMHFAZT MY |4 1,400,000 1,900,000 A500,000
Xl 700,000
= 210,000
Al 490,000

402 RIZ2HXt20l ™ 1,400,000 1,200,000 200,000
Xl 700,000
< 210,000
Al 490,000
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01 BIZtt2 AL E X 1,400,000 1,200,000 200,000
OBSTSHIMLZAH SHAEY
1,400,000, 000& 1,400,000
Xl 700,000
< 210,000
Al 490,000
SHE SAEFIHA WAANZE 24 2,000 2,000 0
207 & O & 2,000 2,000 0
03 Al & 1HI 2,000 2,000 0
OsAUIAAM HHA AME 24
10,0008 * 200 2,000
=2U ASEA I XAEAEY 10,000 10,000 0
< 3,000
Al 7,000
301 g2 4= 10,000 10,000 0
< 3,000
Al 7,000
09 SAAHIEA S 10,000 10,000 0
O=2U ASHAIS &It XNIAS
10,000, 000& 10,000
< 3,000
Al 7,000
RIlsAE XEE 587143 SN 40,000 13,500 26,500
< 10,000
Al 30,000
307 21201 A 40,000 13,500 26,500
< 10,000
Al 30,000
02 P SAMHEL 40,000 13,500 26,500
ORIISAHSAEEEY =8285143 SEIE
40,000,000& 40,000
< 10,000
Al 30,000
NEAN SHE SHMY(REE) 2,286,000 0 2,286,000
= 1,143,000
< 342,900
Al 800, 100
402 RI2HXt20l ™ 2,286,000 0 2,286,000
= 1,143,000
< 342,900
Al 800,100
01 A TtE=AEEX 2,286,000 0 2,286,000
ozEIH THetel 14D
3,810,000,000& » 1JH2 * 60% 2,286,000
= 1,143,000
< 342,900
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32,000 0 32,000
OXNXH SsOHAHNE XA

40,000,000& * 80% 32,000
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SMETUHAER2Z 182,962 187,020 N4,058
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SOHAIE ANIEE 29 39,960 42,550 A 2,590
201 £B-2d| 31,960 34,550 A 2,590
01 At 22l 10,700 10,550 150
odstze == 500,000& * 10 5,000
OAYAL ZHHUFEY +48
2,500,000& = 13l 2,500
OAYANE HSISHY 428
2,500,000& = 13l 2,500
o&Jletdatel e ==& 30,000& = 12& 360
OSI832X 7¢ 30,000& 6 180
ON4+X(2YA) +BAM 242
80,000& = 204 *13 160
02 =224l 21,260 24,000 A2,740
O&ot=ER= 80,000& = 12& 960
oOXIRS 10,800
OMEA 600,000 * 123 7,200
O=38es= 300,000& = 12& 3,600
OnExRLFE3 9,500,000& = 13l 9,500
206 M= Hl 8,000 8,000 0
01 MHZ 8l 8,000 8,000 0
oA U BI2B W2
20,000& = 10& = 12& 2,400
OAN&EE SXZ2E NM(EI,&EH S)
30,000 = 1004 = 12& 3,600
gt s 10,000& * 200 2,000
SOHAIE A2 |22 114,856 111,000 3,856
401 AIEHI L 20 114,856 111,000 3,856
01 A& Bl 114,856 111,000 3,856
OSZOHAIZ AIEHA 114,856
Ox=&AMAI E ELSA
80,000,000& =« 14 80,000
OFMANAIL B4 BABA AALH S
80,000,000& * 6.07% 4,856
OJIEt ==A4 B4 2 22|
10,000,000& * 34! 30,000
DAHSH TUHAE 29 24,816 29,330 A4,514
201 £B-2dH| 16,096 18,750 A2,654
01 At 22l 4,240 5,340 A1,100
ORESZEEA &2t 2,000&  500% 1,000
OZMHAIE SSSALAL 2043 2 W= 2,280
O8=+=92 M 70,000& * 23| 140
O=ZZEM M= 100,000& » 10 1,000
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Oottts 3248 =57 7,0008 » 120H 840
ORSSAMA WS A
300,000& = 1H = 13 300
OF3IE 22= 120,000& = 4H =« 23| 960
02 =224l 11,856 13,410 N 1,554
oxsea 100,0002 * 128 1,200
OR&Es 0l8Z 8,000& » 12& 96
ORSZEEY HLAAE X224
880,000& 123 10,560
207 &1 OH £l 2,000 2,000 0
EEEE 2,000 2,000 0
OsMsStdEdTA AlE THH 24
10,000& * 200 2,000
307 21201 A 6,720 5,280 1,440
05 BIZERIE 3 6,720 5,280 1,440
ORoEor & FUESALAE A&
140,000& » 12&8 1,680
OZZHEA U ANFH HASE
300,000& = 1& = 128 3,600
OASRA & MediXeld g /A
240,000& » 6& 1,440
= THAE 8IXOH 3,330 4,140 A810
201 Let24d] 450 0 450
01 At 2teltl 450 0 450
OR=SHAIZHXIOY HAX WX 2
10,000& = 32 = 159 450
202 oddl 720 1,035 A 315
01 = LH &4 1l 720 1,035 A 315
ORFTHAIZHXIOHZ (M)
80,000& = 3 » 39 720
301 et A= 2,160 3,105 A 945
09 &AL HI B A S 2,160 3,105 A 945
ORX+=SHAIFHIOIA (B0 S)
80,000& = 3 » 99H 2,160
dEd stwgal XA 5,720,000 0 5,720,000
Ed susa XA 5,720,000 0 5,720,000
201 ¢er24l 20,000 0 20,000
01 At 2t 2l 20,000 0 20,000
ONTA HHASEAS HRSU A
250,000& =« 80A 20,000
301 et d = 5,700,000 0 5,700,000
NJIEEd=s 5,700,000 0 5,700,000
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5,700,000,000& ,700,000
TES USHEXNA ,696,773 30,194,410 A8,497,637
< ,678,709
Al ,018,064
=S wusHE XA ,696,773 30,194,410 A8,497,637
< ,678,709
Al ,018,064
IME=EapNEC] ,696,773 25,194,410 A 3,497,637
= ,678,709
Al ,018,064
308 MXIEHSOIH ,696,773 25,194,410 A 3,497,637
= ,678,709
Al ,018,064
08 WSEII20HetE = ,696,773 25,194,410 A 3,497,637
Ox=,8.5+%u 2 A&
21,696,773,000& ,696,773
< ,678,709
Al ,018,064
2 FZH(HU=S) 41,712 43,540 A1,828
24l 41,712 43,540 21,828
=&l 41,712 43,540 21,828
201 et 18,072 17,920 152
01 At 22l I 18,072 17,920 152
GRS T =2Hl)
9,000,000 9,000
o=t (JIE&dl) 9,072,000& 9,072
202 04l 19,440 20,520 A 1,080
01 = LH 4 Hi 19,440 20,520 A 1,080
OJIEZ 19,440,000 19,440
203 R =&t 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
O©J| & (302!0l5t) 350,000& * 123 4,200




